Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER - IV « EXAMINATION - WINTER- 2016

Subject Code: 3340904 Date: 24- 11- 2016

Subject Name: Digital Electronics & Digital Instruments

Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. £2Hill SlEURL AUlcloll scllel WL,
Convert (1010.11); to decimal number.
(1010.11), A 3HA ololRUl WEAL
Convert (100);0 to binary number.

(100)10 ol Aot ololRUL HEAL

Multiply (1.01), by (10.1),.

(1.01), A (10.1); &S 9@

Divide (1110100), by (111010)s,.

(1110100), ol (111010), &S @Ual.

Add (100101), to (110111),.

(100101); ¥al (110111), oll ARcllol $3.
Subtract (111001), from (1110001),.
(1110001), Higll (111001), ¢le $3.

Convert (1035)gto Decimal number.

(1035)g A 3YIHEA ololRUl HEAL

Draw electrical equivalent circuit of NOT gate.
Ale deo{l SARsAH SEAAc2 U2 €L
Draw electrical equivalent circuit of AND gate.

Aos Aeo{l SAlsA SEAAA UEe 1R

© 006 N o L X W w2

o

10.  Draw series negative clipper circuit with necessary i/p, o/p waveforms.
0. AIRl% AARa AUR ulSe 33| Satye-uBaye Ads A R
Q.2 (@)  Write any three boolean algebra properties with related boolean expression.

YR (W) S8R 2Rl of(Qatet Attt AUl %37 of(@aet sVt U

vl
o - OR
(@ Prove AB+AB+ AB+AB=1

1) WOd $A: AB+AB+ AB+AB=1
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Give advantages of electronic switch.
SAsRAs RAUAL $l2LEL AW

OR
Explain positive & negative logic with necessary diagram.

WD U ARl As %33 vus(d A UM
Explain Half adder with necessary diagram.
6lg AS %331 As(Ad WA AHesA

OR
Explain Half subtractor circuit with necessary diagram.

olg UuEs2R 33| wls(d A U

List various types of flip-flop & explain any one with truth table & diagram.

(At ysiRell FEAU-5AU cvll Al SlE As g et At L5l

AU Y-,

OR
List various types of shift register & explain any one with diagram.

QY yslell [Qse 92 AWl ua S8 Als s A AHtAl.

Write & explain any one DeMorgan’s theorem with diagram and truth table.

g'Hdlotell 516 As [aum cvll wal %33 A5ld U g 2 W

TRILIE

OR
Give answers as per Boolean algebra laws. - B
A+l=_ Al= A+A=_  AA=_ A+ A= A A=
of(Aet AHollatl [l YAl scllol WL,
A+tl=_  Al=_  A+A=_  AA=_ A+ A= A A=
Explain decade counter in brief with circuit & waveforms.
S35 5162 33 wlsld ual Aasll WA gsuil AHesAl.

OR
Write short note on 3 to 8 decoder.

gsolltl cull: 3 2l ¢ Slslse.
List & explain in brief types of ROM.
ROM ol YslR Gull ol gsHl Al

OR
Write short note on BCD to seven segment decoder.

gsolltl cdull: BCD ¢l Aclet Ao SI51SR.
Write analog output for various digital inputs for a 4-bit D to A converter.

¥-ofle Sl g A soaeR HIR (AU Slyed Saye 12 el

AIG2 Y2 Aul.

OR
Write short note on specifications of D to A converter.

gsolll AWll: Sl 2 A soctéall RURAGBH et

Write in brief about encoders.
AatslsR (A gsMil Avll.
OR
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Q.5
wsl Y
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Give classification & explain in very brief about memory.

Al (50l AW A volL gsHL UMl

Draw the diagram of any one type of A to D converter.

SlESURL A5 YslRell A g Sl soatéell ausld €12

OR
Compare LED & LCD display.

A 5L ol A ALl B uuA.

Prove: NOR gate is universal gate.

Aol 5 : ol A2 YFlald e B.

Compare Analog & Digital instruments.
WALl Aol SloeE Uloll AWML,

Draw block diagram of Digital Frequency Meter.
Slwect glscoll M2l 6cAls slalatH €L

Draw logic circuit for the given boolean expression.

Y= (A. B)+(B. C)+ (C. A)

WA oAt WYt HRZ As UlSe 1R

Y= (A. B) + (B. C) +(C. A)

Write truth table for a given boolean expression.
Y= (A+B).(B+C)

AU GAdot WAskYAot HE U 2HUA L.
Y= (A+B).(B+C)
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